Mathseeds

Worksheet 1

A. 1. 10,000 2. 8,000 3. 5,000
4. 5,000 5. 3,000 6. 3,000
7. 7.000 8. 2,000
B. 1. 7,170
2. Diana’s mistake is not rounding correctly.
For 4,567, the hundreds digit is 5, so we
round up to 5,000, not 4,000.
Worksheet 2
A 1.719 2. 1.3 3. 8.68
4. 5.33 5. 6.63
B. 32.56; LU8.51
c. 1. a. 2. b. 3. c.
Worksheet 3
A.
Digit Place Value
b tfenth
7 hundredths
6 tens
5 ones
2 thousandths
B. 2. 0.25 3. 0.63 4. 1.0
Worksheet U4
A. 1. a. > b. < c. <
2. 0.2
3. 0.06,0.23,0.L
u. 0.7
5. true
6. >0.5 -0.61,0.74, 0.85

<0.5-0.06,0.14, 0.23
7. Accept all the relevant responses.
8. 0.07 9. 0.5
10.0.04; 0.03

Worksheet 5
A 1. <

< 5 < .
4.87, 5.65, 7.95, 16.45, 41.38
0.74, 15.08, 22.L42, 32, 81.58
0.5, 38.87, 55.01, 56.27, 92.u1
7.65, 10.65, U5, 65.25, 83.18
U5.96, 31.66, 26.08, 21.11, 19.25
89.93, 56.15, 43.62, 26.89, 10.24
81.45, 75.10, 73.10, 67.88, 3L4.52
89.25, 86.86, 36.12, 32.8, 29.40

2. < 3. <
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Worksheet 6

A. 1. 93.24
u. 10.27

B. No

c. 1. b

Worksheet 7

A. 1.2

3
u 2
5

2.

15.34
5. b48.12

2 2
6

5.

il
3

6.

85.68
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B. Accept all the relevant responses.

Worksheet 8

A L2 213
3 3 24
y 238 523
L5 6 6 8
;0231 423
57 2 9 8
B. 1. > 2. <
5 < 6.
Worksheet 9
1 2
A. 1 —Zi 2 _—
2 6 3
Ll. l=i 5, i:
TR 5
B. 1.
3.
Worksheet 10
L n 1
A. 2. — i 3. —, — L.
6 12 8 2
B. 1. C
Worksheet 11
3 5
A. 1. — 2. —
2 3
y, 19 5. 1
4 L
B. 1. 13 2. 2i
L [
L E 5. i
3 2
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Worksheet 12

A ° e ° e
12 12
V V
0+2+2 0+2+45
2% 14141
1
B. 1. 3— 2.1 3. 3—
L
c.
2
D. 1. = 2. & 3. 8 y, 19
8 16 16 16

Worksheet 13

AL, 8
100 100 10
2. 38
10
3. Harsh
u. True
5.
W 1 30
100 10 100

3 L 10

10 10 100
6. 35 9

100 10
30|18 S
100J (100 100

0

=

100
8 18 80
1010 100

Worksheet 14
A. 1. E 2. E
8 9

\ 4! \

REE

| v
ci. 0, 70 5 M0, 78
100 100 100 100
Worksheet 15
e 56 3 29 Lu4 98
10710 100 100 100
B. 0.59
Cc. 1. 0.56 2. 0.59
D. 1. @ 2. E
20 10
Worksheet 16
A 1. 1.1 2. 0.08 3. 0L
4. 0.36 5. 5.9 6. 0.91
B. 1. C 2. f 3. e
u. b 5. a 6. d
c. 1. 210 2. Cd
10

D. 1. 0.58 2. 0.95 3. 0.72 u. 0.LO
Worksheet 17

A. 1. C 2. i 3. b
10
B =ttt
(1] 0.5 1
c —t—t—t—t—t—t—t—t—t
03 0.35 ol
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3. 09 4. seven hundredths E 5. 7x6=L2. 6. 64x17=1173
L ) ) : odd x odd = odd even x odd = even
0 %%%%‘%%%%% ; 6%%%%%%@%%% E even x odd = even even x even = even
5 even x even = even odd x odd = odd /
. odd x even =even / odd x even = even |
Worksheet 19
. B. 2. odd x odd = odd
1 1 1 :
A 1. — 2. —,0.Lu8,— 3. 0L . 3. even x even = even
10 5 2 : L. even x even = even
B. Accept all the relevant responses. : 5. odd x odd = odd
c 8 : 6. odd x odd = odd
10 : C. 2. even 3. odd 4. odd
Worksheet 20 5. even 6. odd
A. 1. Which amay shows odd number? 2. Which array shows even number? E WorkSheet 23
eo ®° ee 09 oo 399 A 1. One way distance fo a park s 19 2. The cost of a movie ficket is 2S0.
6 oo o0 oo ° ° km. What is the total distance to the How much wil be the cost of 4
e 3% ° o : park and back? tickets? ]
: Bkm /| 12km 31200 | 31500 |
E akm | | A0km g0 V/ Tweo |
3. Find the sequence of odd numbers. u. Find the sequence of even E s wﬁs:i;gfclosfﬁg(ﬁi::z?ég?:k; T (CENES R I e (s i
! numbers. . i —
120, 160, 200, 240 50705 A 1957 13,39, 65,91 . 2200 wo /) 66 ] 200
56163625 130,190,230 | 1,11,101,1001 222,220,200 4 : =Y B | Y % 1/
""""" P B
5. Find the odd number. 6. Find the even number. . %0
12158 1656 /] l6su%8s |/ 5431 E 30
. 15
1542 13213 6359 65487 .
° 3.
. Ly
B. 1. odd 2. even 3. even L. even . 72
5. odd 6. even 7. odd 8. odd : K
Worksheet 21 .
: C 65 - - 70
A. Odd, Odd, Odd, Even, Even, Even or odd :
N 123 1086
B. 2. even + even =even :
3. odd + odd = even e 7
L. even + odd = odd 8v 246
5. odd + odd = even : Worksheet 24
6. even + even =even S OA 1 Lx122 L x 126
7. odd + even = odd : 2% 9 x 1922 2% 2 x 126
8. odd + even = odd :
. 2 x 2uh 2 x 252
9. even + even = even . 188 259
10.even + odd = odd
. 3. X L. x 57
c. 1. true 2. true false : 8> 8x5
4. false 5. true true : 2x2x2xA99 Hx2x57
7. true 8. true false 2x2x198 2x2x2x57
10. false 11. false 12. false 2 % 396 2x2x 114
Worksheet 22 396 2 x 228
A : 5. 8 x 143 8 x 1u1
. Use the odd and les. Which . Use the odd and les. Which .
e B - Lx2x 143 bx 2 x 141
o D) 4 o L : 2x2x2x 143 2x2x2x 141
8x9 7x9 13x6 11x9 .
. 2 x2x2U6 2 x2x282
38 xf::tl;\err:;llhphcchon has all odd u mr:ft:\er;;l;ltlphcchon has all even E 2 % LI q 2 2 « 5 6L|
6x3=18 § M 6x9=54 |¢/ | 3xL4=12 1| 5x7=35 | .
o o : pf . Q8L 1128
10x12=1201 15%9=135 8x9=72 | 12x10=120} :

e
1




B. 1. 730 grams 2. 58L0 grams
3. 1460 grams 4. 11680 grams
5. 2920 grams 6. 23360 grams
C. 1. 178,356 2. 1286, 2572
3. 730, 1460 u. 1756, 3512
5. 9ul, 1888 6. 628, 1256
7. 1994, 3988 8. 662, 1324
Worksheet 25
A. 1. 120, 60 2. 240, 120
3. 480, 2u0 4. LOO, 200
5. 280, 140 6. L20, 210
7. 160, 80 8. 360, 180
B. 1. 720:2+2+2 720+ 2
720:2+2 i/ i 720414
2. 1680+2+2 1680 + 2
1680+2+2+2 v/ 1680+bL+l
C. 1. Lluy=+y 2. 172+14
Ly +2+2 172+2+2
22+2 86+ 2
11 u3
3. 272+L4+2 u. 216+L
136 +2+2 216 +2+2
68 + 2 108 + 2
3u 54
5. 280+8 6. 392+ 8
280+L+2 392+L+2
280+2+2+2 392+2+2+2
wo+2+2 196 +2+2
70+ 2 a8 + 2
35 uq
Worksheet 26
A. | 1 Halfof 18 can we wiitten as P2 g?;ffu:n guhgm ?’l.:;r 6253”25 50 half
18x2 | 18+2 1 w o/ a8
18=2 182 1/} 2 2
e wiisreinigals
0 I/ 15 3999 88000
o LIC= L | $8o000e
B. 1. 60, 30 2. 90, U5
3. 250, 125 u. 150,75
5. 200, 100 6. L50, 225
7. 300, 150 8. 350,175

c. 1.7 2. L9 3.8 L. 32
5. 90 6. 50 7. 212 8. 84

Worksheet 27

A. 1. Mulliply previous term by 10
2. Multiples of 5

B. 1. L, 8 2. 35,42

C, (3.6,9,12) (1,6,11,16) (7.14,21,28)

—

Multiples of 7 Multiples of 3 Add 5

D. 18, 33,18, 70, 90, 20
Worksheet 28
A. 1. 8,16, 204, 32,40, U8, 56, 64, 72, 80, 88, 96
2. 13,26, 39, 52, 65,78,91, 104, 117, 130,
143, 156
3. 16, 32,148, 64, 80, 96, 112, 128, 1uL, 160,
176, 192
4. 22,4l, 66,88, 110, 132, 154, 176, 198, 220,
242, 264
5. 50, 100, 150, 200, 250, 300, 350, 400, u50,
500, 550, 600, 650
B. 2. To add fifteen
3. To add hundred
Worksheet 29
A. Accept all the relevant responses.
B. 2
C. 2steps left
Worksheet 30
A. 1. Multiple of 11
3. Addition of 10
B. Multiples of 2
c. 1. 10,12, 14,16, 18, 20, 22, 24, 26
2. 121,131, 141, 151,161, 171, 181
Worksheet 31

2. Addition of 11

A, bxL,2x8

B.

C. 1. L2 2. L0 3. L9 L. L5

5. 36 6. L2
Worksheet 32
A.
| 2 5 y 5 6

2 2 L 6 8 10 12
3 3 6 9 12 15 18
6 6 12 18 24 30 36
7 7 4 21 28 35 L2
10 10 20 30 ) 50 60
11 11 22 33 Ly B5 66



B. What is the first thing we do before eating any meal? z
IO I CI e ]
5 65 24 27 36 18 20 L5 1 81 99 L8 1u§
S=7x2 N=2x9 H=6x6 A=3x8 g
W=5x13 H=9x11 U=2x10 D=8x6 S
| A=9x9 $=3x9 0=3x6 R=9x5 E
Worksheet 33
A. 1. C 2. C 3. d
u. c 5. B
B. 1. LU0 2. 225,675 3.567, Qu5
c. 1. %75 2. 80
Worksheet 34
A. 1. If there are 16 dogs, how many legs would
there be altogether? 16 x 8
2. How many wheels are there in total if there are
16 tricycles? 16 %5
3. If there are 16 octopuses, how many arms
would there be in total? 16 x 3
u. There are 16 wires. Each wire is 5 m long.
What is the total length of all the wires? 16 x L
B. 1. 225 2. L8 3. 2u0 4. L50
Worksheet 35
A. 1. A 2. C 3. C
u. c 5. b
B. 1. 7 2. 3 3. 35 u. 5
Worksheet 36
A. 1. 15 2. 8 3. 6 u. 20
B. 1. 12 2. L8 3.8
. 6 5.8
Worksheet 37
A. 1. C 2. d 3. b
u b 5. d
B. 1. 2800 2. 35 3. 600 4. No
Worksheet 38
A. 1. no 2. yes 3. yes L. yes
B. 1. 3280 2. 3300 3. 32700
u. 320 5. ¥ 310
Worksheet 39
A. 1. c A A B
B<<A B<<c C<B A<<C
[— [ [
2.
[ él
B. 1. a. right angle b. acute angle
c. obtuse angle d. obtuse angle
e. right angle f. acute angle
c. 1,25
Worksheet 40
A. 1. acute angle 2. obftuse angle

. obtuse angle L. obtuse angle

3
5. obtuse angle 6. acute angle
7. acute angle 8. acute angle

9. obtuse angle

B. /U4, 22, 273, 21

Worksheet b1
A. Straight angle, revolution, reflex
B. 1. 180° 2. 100°
C.

D. 1. false 2. frue 3. true

Worksheet 42

A. Accept all the relevant responses.

B. b

C. b,c

D.
_I

E. 0,0,1,1,1

Worksheet 43

A GO GO GO G GO GO
CA) (RO CADCR) CADCRD

B. 2,1,3

C. A-straight angle, B - acute angle, C - obtuse
angle

D. Accept all the relevant responses

E. Accept all the relevant responses

Worksheet L4

A. 1. right angle reflex angle

B. 1. acute angle straight angle

G

© o F MDD

3. obtuse angle reflex angle
5. right angle acute angle
7. obtuse angle acute angle
9. reflex angle



Worksheet 45 C. 1. Thbhcm 2. 570 km

A 1. 2. Worksheet 49
\ ¢ A 1. Camel 2. Giraffe
3. South 4. East

D - 0

left right

'@ ‘a4 R
A — Tl i A
: ! 2 3 4 5 6 7 8
N J — : Worksheet 50

B. 1. South - East 2. North : A 1. Teddy bear 2. Computer
3. South - West b West 3. Guitar 4. Computer
5. South 6. North - West : Bo1oa tfrue b. false
7. East 8. Noth - East 2. a. A.S.Road, M.G. Road
C. 1. Noth 2. East : b. North - East
3. South . West ¢ 3. a. Go towards east on R.J. Road. Take the
5. North - East 6. South - East : second leff fo N.M. Road.
7. South - West . b. Go fowards east on R.J. Road. Take the
’ : first left fo N.M. Road. Take the first right
Worksheet U6 : to M.G Road.
A. \’ﬁ 116G c. Go towards west on R.J Road. Take the
: second right to A.S Road. Take the first
Y 6E left to M.G Road.
.26 ¢ Worksheet 51
:%: A 1. d 2. e 3. a
6H .
: u. c 5. b
€ : B 1. 0.34,0.50.72 2. 0.4,0.82,1.9,3.2
A, 9B : 3. 1.7,2.23,1.82
. :oco. 2. . b,
B. 1. Move 1 square down and 2 squares right - c H>7 45 8. 2490 12
2. Move 1 square down and 2 squares Worksheet 52
right. ¢ A 1. c. 2. a. 3. b. 4 b. 5 a
3. Move 2 square up and U squares right B. 1. d 2. cC 3. e
L. Move 2 square up and b4 squares left b a 5 b
5. Move 2 square down and 1 squares left ¢ C. 1. < 2. >
Worksheet 47 . D. Accept all the relevant responses.
A 1. C 2. a 3. C u b . Worksheet 53
B. Accept all the relevant responses. ¢ A. 1. 765L20, 204567 2. 985u31, 134589
Worksheet 48 : 3. 85L321, 123458
A 1. C 2. @ 3. d L b P B 1 3(l) 2 ”L) 3. u(i)
B. 1. east 2. south 3 2 L
3. east 4. south - west : C. 1. right angle 2. zero angle

@)



3. straight angle u. reflex angle

5. straight angle 6. zero angle

7. obtuse angle 8. zero angle

9. acute angle
Worksheet 54
A. 1.4 2. 5
B. 1. a,d 2. b, d
c. 1. 2 2. 6 3.5 u. 5
Worksheet 55
A 1. 1.70

2. 3,000 + 400 + 60 + 2

3. 6000 +200 + 10 +5

4. 10,000 + 7,000 + 300 + 80 + 2

5. 3,00,000 + 20,000 + 1000 + 600 + 10 + 2

6. 7,00,000 + 10,000 + 2,000 + 800 + 30 + L
B. 1. (10x5)+ (2x5)

2. (10x7)+(8x7)=126

3. (20 x L)+ (5xL)=100

L. (30><6)+(O><6)-180

5. (WO x5)+ (5x3)=215
OO

2.

qOIS
3.
RERED R

Worksheet 56

A.

1.

2.
3.
y.
Ten Thousands | Hundreds | Tens | Ones
thousands
us 3 3 6 5
2 0 8 b 5
7 0 9 0 5
0 0 6 0 5
3 3 4 6 7






